



5 ml Biohit-Style Tip (non-sterile)



Product Highlights

- From 1200 µl tips to 10 ml tips
- Made from polypropylene
- Compatible with a wide range of pipettes
- Different pack types available
- Certified

Product Applications

Pipetting of large volumes of liquids

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.









General Data

Art. No.	E1009-7000
Pack Size	250 Tips (1 Bag × 250 Tips)
Sterile	No
Autoclavable	Yes
Filter tip	Non-filter
Volume	5 ml
Material	Polypropylene
Graduations	No
Design Tips	Biohit-Style
For use with	Abimed: Discovery Comfort, LABMATE Optima Biohit*: eLine, ePet, mLine, Picus, Proline Eppendorf*: Reference 2, Research plus, Research pro, Xplorer Hamilton*: SofTouch HTL: Discovery Comfort, Labmate Pro, Optipette Rainin*: Classic, EDP1, EDP-3 Plus, Pipet-Lite, Pipet-Plus Sartorius*: eLine, ePet, mLine, Picus, Picus NxT, Proline, Proline Plus, Tacta

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.









More informations about 5 ml Biohit-Style Tip (non-sterile)

Large Volume Tips

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD 5 Tanners Drive

MK14 5BU Milton Keynes
Email: infoline@starlab.co.uk







All Variations

PRODUCT NAME		PACKAGING SIZE	ART. NO.
	5 ml Biohit-Style Tip (non-sterile) Design Tips: Biohit-Style Sterile: No Pack Size: 250 Tips (1 Bag × 250 Tips) Create PDF Data Sheet	250 Tips (1 Bag × 250 Tips)	E1009-7000
	5 ml Biohit-Style-XL Tip (non-sterile) Design Tips: Biohit-Style-XL Sterile: No Pack Size: 250 Tips (1 Bag × 250 Tips) Create PDF Data Sheet	250 Tips (1 Bag × 250 Tips)	E1009-7001
	5 ml Finn-Style Tip (non-sterile) Design Tips: Finn-Style Sterile: No Pack Size: 250 Tips (1 Bag × 250 Tips) Create PDF Data Sheet	250 Tips (1 Bag × 250 Tips)	I1009-5000
	5 ml Gilson-Style Graduated Macro Tip (non-sterile) Design Tips: Gilson-Style Sterile: No Pack Size: 250 Tips (1 Bag × 250 Tips) Create PDF Data Sheet	250 Tips (1 Bag × 250 Tips)	I1050-0000
■ formul>	5 ml Gilson-Style Graduated Macro Tip (non-sterile) Design Tips: Gilson-Style Sterile: No Pack Size: 500 Tips (10 Racks × 50 Tips) Create PDF Data Sheet	500 Tips (10 Racks × 50 Tips)	I1050-0700
	5 ml Gilson-Style Graduated Macro Tip (sterile) Design Tips: Gilson-Style Sterile: Yes Pack Size: 500 Tips (10 Racks × 50 Tips) Create PDF Data Sheet	500 Tips (10 Racks × 50 Tips)	I1050-0710

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD







PRODUCT NAME		PACKAGING SIZE	ART. NO.
- Manual	5 ml Eppendorf-Style Graduated Macro Tip (non-sterile) Design Tips: Eppendorf-Style Sterile: No Pack Size: 250 Tips (1 Bag × 250 Tips)	250 Tips (1 Bag × 250 Tips)	I1053-0000
	Create PDF Data Sheet		
Material	5 ml Eppendorf-Style Graduated Macro Tip (non-sterile) Design Tips: Eppendorf-Style Sterile: No Pack Size: 500 Tips (10 Racks × 50 Tips)	500 Tips (10 Racks × 50 Tips)	I1053-0700
	Create PDF Data Sheet		
	5 ml Eppendorf-Style Graduated Macro Tip (sterile) Design Tips: Eppendorf-Style Sterile: Yes Pack Size: 500 Tips (10 Racks × 50 Tips)	500 Tips (10 Racks × 50 Tips)	I1053-0710
	Create PDF Data Sheet		
	5.0 ml ErgoOne E/Finn-Style Pipette Tip (non-sterile), Loose Design Tips: Finn-Style Sterile: No Pack Size: 200 Tips (1 Bag × 200 Tips) Create PDF Data Sheet	200 Tips (1 Bag × 200 Tips)	E1070-2596
	5.0 ml ErgoOne E/Finn-Style Pipette Tip (non-sterile), Loose Design Tips: Finn-Style Sterile: No Pack Size: 1,000 Tips (5 Bags × 200 Tips)	1,000 Tips (5 Bags × 200 Tips)	E1070-2601
(111111111	5 ml Gilson-Style Graduated Macro Tip (non-sterile) Design Tips: Gilson-Style Sterile: No Pack Size: 2,500 Tips (10 Bag × 250 Tips) Create PDF Data Sheet	2,500 Tips (10 Bag × 250 Tips)	I1050-0000-C

STARLAB reserves the right to make changes at any time and without prior notice. The content and design of this PDF are protected by national and international copyright law and are the property of STARLAB International GmbH. Any duplication, editing, distribution and any kind of use and utilization of this PDF content in electronic systems, online media and / or libraries or similar databases requires the prior consent of STARLAB International GmbH.

Starlab (UK) LTD

